
Rev1.0                                                                                                                                                       1/2 

  
 

Can-Am Maverick R ‘24-‘25 
Steering Wheel Mount for Switch-Pros® SP9100 

 
 
 
 
 
 
 
 
 

Kit Includes 
Steering Wheel Mount (1) Plastic P-Clamp (1) 12” Coiled Cable (1) 

6-32 x 3/16” Long Screw (3) 6-32 x 5/16” Long Screw (1) Zip Tie (2) 
 

 
Installation: 
 
1. Remove the Can-Am plastic cap from the center of the steering wheel.  
 
2. Route the Coiled Cable from the back of the steering wheel through the wire feed hole.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Required Tools 
7/64” Allen Key 



Rev1.0                                                                                                                                                       2/2 

3. Attach the Switch Panel to the Steering Wheel Mount using the 6-32 x 3/16” Screws (3) provided and 
a 7/64” Allen Key.  
 
 

 
 
 
 

 
 
 
 
4. Attach the Plastic P-Clamp around the Coiled Cable, screw the P-Clamp the bottom right Switch 
Panel hole using the 6-32 x 5/16” Screw (1) provided and a 7/64” Allen Key. Plug the Coiled Cable to 
the Switch Panel and route the cables as seen below.  
 
 
 
 
 
 
 
 
 
 
 
 
5. Tuck cables underneath the steering wheel trim and attach the plastic cap to the steering wheel. 
Ensure the cables are not pinched and all three mounting tables are clipped in. To remove the plastic cap 
from the steering wheel, pinch the top and bottom walls of the mount and gently pop it off. 
Connect the Coiled Cable to the system’s Communications Cable. Zip-tie the cables under the dash so 
there is no strain on the connectors.  
 
 

P-Clamp 

6-32 x 3/16” 
Screws (3) 

6-32 x 5/16” 
Screw (1) 


